
ASSEMBLY INSTRUCTIONS

TOOLS REQUIRED:

BEFORE YOU START:

INSTRUCTIONS:

Wrench (supplied, part #4)

1. Place the bench top (A) upside down on a clean
soft surface.

2. Place a leg (B) in one corner, sliding the
threaded bolts in the leg through the holes in
the corner block.

3. Put a flat washer (1), a spring washer (2) and
then a nut (3) on each threaded bolt.

4. Tighten the nuts with the wrench (4).
5. Repeat Steps 1-3 for the other three legs.
6. Tighten all the nuts before setting the bench

upright.

1. Check the parts against the parts list to make
sure all items are present.

2. Assemble your furniture on a soft, flat surface to
avoid scratching the finish.

3. Do not over tighten any screws, nuts
or bolts during assembly.

4. Your furniture may require occasional tightening.

CAUTION:

QTYDESCRIPTIONITEM

HARDWARE LIST

Flat washer 5/16”

Lock washer 5/16”

Nut 5/16”

Wrench 5/16”

8

8

8

1

1

2

3

4

NO.

BENCH



INSTRUCTIONS DE MONTAGE

OUTILLAGE NECESSAIRE:

AVANT DE COMMENCER:

ATTENTION:

INSTRUCTIONS:

Clé (fournie, pièce #4)

1. Vérifier que les pièces correspondent à la liste,
et qu’aucune ne manque.

2. Assembler votre meuble sur une surface lisse
afin d’éviter toute égratignure du vernis.

3. Ne pas serrer les écrous trop fort
lors de l’assemblage.

4. Votre meuble peut avoir besoin de resserer les
boulons de temps à autres.

1. Placer le banc (A) à l’envers sur une surface
propre et lisse.

2. Mettre un pied (B) dans un des coins, enfilant la
tige filetée dans le pied, à travers le trou situé
dans le bloc d’angle.

3. Enfiler une rondelle plate (1), une rondelle
ressort (2), et un boulon (3).

4. Serrer les boulons avec la clé (4).
5. Répeter les points 1 à 3 pour les trois autres

pieds.
6. Bien serrer tous les boulons avant de retourner

le banc à l’endroit.

QTÉDESCRIPTIONDESSIN

LISTE DES PIÈCES

8

8

8

1

1

2

3

4

NO.

Rondelle d’arrêt 5/16”

Rondelle plate 5/16”

Boulon 5/16”

Clé 5/16”

BANCO



INSTRUCCIÓNES DE ENSABLAJE

NECESITAS ESTÁ HERRAMIENTA:

ANTES DE EMPEZAR:

AVISO:

INSTRUCCIÓNES:

A

B

1

2 3

4

pasos 1 - 3

Desvolvedor: (incluido, parte #4)

1. Verificar que todas las partes están presente
con la lista de partes.

2. Ensamblar tú mueble sobre un superficie suave
para evitar rascando el acabado.

3. No debes de apretar los pernos
demasiado cuando ensamblas tú mueble.

4. En cuando, tú mueble puede necesitar
apretando.

1. Poner la parte arriba del banco ( ) lo de arriba
abajo sobre un limpio, suave superficie.

2. Poner la pierna ( ) en una esquina, resbalando
los pernos rosca en la pierna a través de las
cavidades en el bloque esquina.

3. Poner un arandela plano ( ) un arandela partido
( ) entonces una tuerca hexagonal ( ) en cada
rosca perno.

4. Apretar las tuercas con el desvolvedor ( ).
5. Tienes que Repetir por los otro tres

piernas.
6. Entonces apretar todos las tuercas antes de

poniendo el banco recto.

Arandela plano 5/16”

Arandela cerradura 5/16”

Tuerca 5/16”

Desvolvedor 5/16”

CANT.DESCRIPCIÓNDIBUJO

LISTA DE PARTES

8

8

8

1

1

2

3

4

NO.

BANCO


	A-D 791-480 E 1a.pdf
	A-D 791-480 F 1a.pdf
	A-D 791-480 S 1a.pdf

